Section 1.3 — Surface Areas of Composite Rectangular Prisms

Name:

1. Find the surface area of the rectangular prism below:
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* In this section, we will look at objects made up of 2 or more rectangular
prisms. They are called composite objects. It just means that one rectangular
prism is attached to another one. When they do, there will always be an area of
overlap.

2. § For the object below, what is the area of the top cube?
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B. What is the area of &e bottom rectangular prism?
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C. What is the area of the overlap region? ’S:I (D
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D. What is the total surface area of the entire object?
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3. Assume each face of the cube has area 1 cm? . Determine the surface area of each composite
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(i) How does the total surface area change if you remove the left cube? \ (? r L‘)
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4, Find the total surface area of the following composite object. aa m 9
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